WEZE GRRIRD

=
SEE LGSR

w2 | ARG s HE A TR HERE
IR T | 94.71721 1 A
LT | 94.57648 2 POl 2
TREE | 92.27867 3 PO 2
kTH | 91.63789 4 P HELE
£ B 89.54048 5 o)
PRI | 88.88423 6 PHESE
W i 88.60259 7 HESE
BA—7K | 88.53360 8 A
IG5 | 88.04662 9 PHERE
KT | 87.59703 10 PHESE
MIGFIG | 87.31062 11 P
AR | 86.31259 12 PHERE




WEz (EFEMI)

Pas = 3
5 | GERG | ek
sk Rk | 93.53223 1 L
ARBEEE | 93.26595 2 e
M| 93.13028 3 e
AN | 93.01922 4 7
TP | 92.20674 5 e
FER4A | 92.19357 6 e
/MR | 91.71962 7 P
FEER | 90.83761 8 Pl
FE | 90.72218 9 I HER
HELKE | 89.17923 10 e
Wi | 88.96151 11 POl 2
SR | 88.60745 12 o2
%5 | 87.67765 13 P
FEEET] | 87.40649 14 e
A | 86.83852 15 PIHERE
Ffe | 86.81733 16 o2
Z2H3E | 86.43749 17 o2
W& | 86.31543 18 e
P HEPY | 86.29610 19 P2
jkAG | 85.59245 20 Pl
MR 0% | 84.33158 21 Pl
ST | 84.09962 22 L2
PR | 83.83690 23 e
J4E)1] | 83.76366 24 Pl
WP | 83.67001 25 I HER
Adnen | 83.43471 26 e
585 | 82.95436 27 e
A | 82.55487 28 | BUERE, BRI U RR
HK | 82.43893 29 WIHER, IR ERTE R
T | 82.40036 31 WHERE, IR ELAEHR




BRIRESBEA

N SR8 R -
M | FES w4 FAEHEE
FREEF | 96.11710 1 TR
JAWE | 94.71802 2 2
BRI | 92.69725 3 2
BAPHFE | 92.41573 4 2
B | 92.09781 5 o HE
B3 | 91.87334 6 L HE#
FREZEA | 91.73339 7 IHERE
BFRE | 91.47889 8 2
#A.0 | 90.81553 9 oM
JAEL | 90.16414 10 2
25 | 89.73674 11 L2
FBELE | 89.71838 12 UL 7
TP | 89.54067 13 7
TKEH | 89.33119 14 2
E2 87.05616 15 PHERE, P52 RIAE X Fa b
KRR | 86.86834 16 PHERE, EPTRCAME bR
I | 86.58170 18 PHERE, EPTR CAME bR
PR¥ET | 86.50241 19 R, EER T AMESE b
MisCkE | 8639917 21 PHERE, EPTRCAME bR
HHAGE | 84.26143 26 PHERE, EPTRCAME bR




MRS TE

=
SEE LR

w2 | eSS s HE A TR HERE
TRET | 94.50791 1 PHERE
R | 94.07461 2 TR
BHEEZ | 92.65425 3 A7
THAF | 92.36235 4 I HER
WRHE | 92.29850 5 PHERE
EWIK | 91.85363 6 POHERE, SCHF U5 A dabs
TR | 91.63585 7 WHERE
IR | 91.63163 8 PHERE
FHIR | 91.61846 9 A
T2 | 91.48529 10 L
= 90.91967 11 ST
FRXIRE | 90.74520 12 JOHEFE
FENEE | 90.70892 13 PHERE
M5 | 90.38948 14 A7
YFWREE | 89.96546 15 T
fERHE | 89.88023 16 P
5% % | 89.82882 17 P




